
1/11H48.200LS009EN-2 03.2019

ALU 200-DS
Assembly instructions

BD5

Single-sash square turn-only secondary sash 

Aluminium Eurogroove 15/20 

Chamber dimension 21

Versions A0004/A0006/A0022

Hinge clearance (BD) 5

Size range
Windows

Sash width (mm) 635 – 1250

Sash height (mm) 1100 – 2800

Sash weight (kg) max. 200

The following application diagrams are valid:​ 
-max. 200 kg			   document nr.: H58.AWDLS007EN 
The following documentation is required: 
-profile recommendation ALU20 	 document nr.: H48.ZubhLS009EN 
-ALU Maintenance instructions	 document nr.: H45.5200LS006EN 
-ALU Service instructions 		  document nr.: H45.5200LS007EN 
-ALU Operating instructions 		  document nr.: H45.5200LS008EN
Please observe:
Guidelines/notes on the product and on liability (VHBH directive as well as  
the further applicable documents)! 
Specifications from the profile manufacturers or system owners for windows and 
patio doors! 

See SIEGENIA download portal for all documentation!



03.20192/11 H48.200LS009EN-2

ALU 200-DS Hardware overview
Single sash square turn-only secondary sash 
Hinge side ALU 200 BD5

Turn-only  
secondary sash

 Items    Nm  
   (± 0.25)

929 2.5       2.5

505, 517, 929 1.5       2.5 

908, 546 2.5       4

412 4       4

403, 900, 903, 904, 907, 930 2.7       PZ2

Torque and tooling information

241

242

243

244

930

903

929

247

248

500

903

903

900249

245 246

701 

403

700

505

505

908 

502515505

10

915 

908 
2

600 

103

100

915 600 

101

H1H2

H3H4 620 

907 

904 

1 6

107

0

904 

104

620 

907 

105

505546 503 517 502

412 413



H48.200LS009EN-2 03.2019 3/11

Hardware list
Single sash square turn-only secondary sash 

Hinge side ALU 200 BD5

ALU 200-DS
Turn-only  
secondary 

Item Pieces Material description Material number VE Material number VE

H1
100

1

ALU Si-line handle
(Only use in 
combination with 
coupling set)

See assembly instructions 
ALU handle overview  

in the SIEGENIA download portal

101 ALU Si-line lockable handle

H2
102 ALU Globe handle
103 ALU GLOBE lockable handle

H3
104 TITAN handle 

(Only use in 
combination with gear 
set)

□ 7 mm x Ø 25 mm, cam 10 mm 
(only use in combination with gear set)105 TITAN lockable handle

H4
106 ALU Globe RR handle See assembly instructions  

ALU Handle Globe round rose
in the SIEGENIA download portal107 ALU Globe RR lockable handle

 
 

1 Hinge side ALU 200 RH Silver MMBS0151-52501_ 1 MMBS0151-52512_ 5
Traffic white  RAL 9016 MMBS0151-50401_ 1 MMBS0151-50412_ 5
Mill finish MMBS0151-50001_ 1 MMBS0151-50012_ 5

 
 

1 Hinge side ALU 200 LH Silver MMBS0152-52501_ 1 MMBS0152-52512_ 5
Traffic white  RAL 9016 MMBS0152-50401_ 1 MMBS0152-50412_ 5
Mill finish MMBS0152-50001_ 1 MMBS0152-50012_ 5

241 1 Bottom hinge RH/LH
242 1 Side adjustment
243 1 Bottom hinge pin
244 1 Corner hinge 
245 1 Bag closing cap BSU
246 1 Clamping piece
247 1 Hinge pin
248 1 Top hinge left/right
249 1 Stay hinge left/right
900 2 Countersunk screw M5 x 7
903 7 Countersunk screw M5 x 19
929 1 Coupling screw > 160 kg
930 3 Countersunk screw M5 x 10.5
403 1 Top stay ALU 200 size 30 MSKK0020-00001_ 1 MSKK0020-00003_ 20

1 Locking side ALU-D-DS MMVS0350-10001_ 1 MMVS0350-10003_ 20
500 1 Locking bolt DK
502 2 Clamping piece EUL
503 1 VSO corner drive
505 2 Striker
515 1 Corner drive VSU
517 1 Run-up block
546 1 Stop

H1 
H2

0...1 ALU coupling set
(only use in 
combination with 
handle H1/H2)

MMKL0060-10001_ 1 MMKL0060-10003_ 20

600 1 Coupling bracket
908 2 Cheese head screw M5 x 12

H3 
H4

0...1 ALU gear set

(Only use in combination 
with H3/H4) see 
assembly instructions  
ALU gear set M6  
in the SIEGENIA 
download portal

MMGI0090-10001_ 1 MMGI0090-10003_ 20

620 1 M6 ESG
904 2 Countersunk screw M5 x 35
907 2 Coupling screw M6

de
pe

nd
in

g 
on

 sy
st

em
 

0...1 MV ALU-DK/TBT FH > 1250 857045 1 246979 20
505 (2) 1 Striker
700 1 Slider
701 1 VSU/BSO corner drive

0...1 Locking part ALU FH > 2400 – – 317556 20
412 1 Locking cam
413 1 Eccentric rivet
505 1 Striker
915 0...1 ALU handle support (only use for H1/H2) – – (see table on page 4) 200



03.20194/11 H48.200LS009EN-2

ALU 200-DS Hardware list and assembly instructions
Single sash square turn-only secondary sash 
Hinge side ALU 200 BD5

Turn-only  
secondary sash

Observe assembly sequence!

sequence of installation in the sash:
-without centre lock (2.- 3.- 4.)
-with centre lock (1.-2.- 3.- 4.- 5.)

2.

3.

4.
1.

5.

FB

FH

USH 
(mm)

Z 
(mm)

X 
≤ 7 mm

X 
< 7 ≤ 8.5 mm

7 - 10
≤ 2

MFHA0010-10020_
MFHA0010-10020_

> 2 ≤ 3 MFHA0020-10020_
> 3 -

12 - MFHA0030-10020_ -

Design variations for handle support 
(item 915) (H1/H2)

Rebate height
(USH)

2

Z

X
1,

5



5/11H48.200LS009EN-2 03.2019

Jigs and tools 
Single-sash square turn-only secondary sash 

Hinge side ALU 200 BD5

ALU 200-DS
Turn-only  

secondary sash

Material description VE Material number

Jig For top stay size 30 1 MASB0010-50001_

ALU-DK200 (Item 403)
∅ 4.3 mm

Hinge side jig for bottom hinge (item 241), 1 MABB0010-09901_

ALU-DK200 and top hinge (item 248)
Black
∅ 4.3 mm

Hinge side jig Sash weight > 160 kg 1 MABB0020-10001_

ALU-DK200 EB For coupling screw
∅ 5.2 mm (Item 929)

Disassembly key Removal for hinge pin 1 MAEW0030-02301_

ALU 200/300 (Item 247)



03.20196/11 H48.200LS009EN-2

ALU 200-DS Machining the sash 
Single-sash square turn-only secondary sash 
Hinge side ALU 200 BD5

Turn-only  
secondary sash

Drilling informationJigs

Marking for the positioning 
of the top stay.

Drilling information > 160 kg

∅
5.

2 
(s

as
h 

w
ei

gh
t >

 1
60

 k
g)

315
302,5

4,3

4,3

5,
2

12
9



7/11H48.200LS009EN-2 03.2019

Sash dimensions
Single sash square turn-only secondary sash 

Hinge side ALU 200 BD5

ALU 200-DS
Turn-only  

secondary sash

50

15

5,2

5,2

98

10 10
10

23 23
2,4

19 43 78

14,5

11,5

72

R5
R5

S8 = FB - 600

S7
 =

 G
2 

- 1
10

S6
 =

 G
2 

- 1
10

S7
 =

 G
2 

- 7
6

G2
 m

in
. 3

50
G1

 m
in

. 3
70

S6
 =

 G
2 

- 7
6

10

5,2

10

▲
 F

H/
3 

- 1
63

■
 S

4 
= 

FH
/2

 - 
23

0 
▲

 S
4 

= 
2/

3 
FH

 - 
24

7 

Ø
10

X

X

1)

H4 H3

H3/H4

H1/H2

▲ = FH > 2400

■ = FH > 1250 ≤ 2400  

FB (sash width of secondary sash)

FH
 (s

as
h 

he
ig

ht
)

1) See page 3 for information on centre locks and additional locks.



03.20198/11 H48.200LS009EN-2

ALU 200-DS Machining the frame
Single sash square turn-only secondary sash 
Hinge side ALU 200 BD5

Turn-only  
secondary sash

18
1,5

16
,5

6,
5

19

1,5

17

≥ 5 / 6 (BSO)

4,3

4,
3

4,
3

4,
3

4,
3

9,2

Y

Y

(4
8)

12
2,

5

22

17
17

+1
21

23

48

4,3

≥ 6

≥ 6

≥ 
6

A

A

A - A

≥ 
6

Drilling information Jigs

Note: a bearing threaded length of ≥ 6 mm is required for the 
installation of the countersunk screws M5 x 19 (903)  
(see profile section above).



H48.200LS009EN-2 03.2019 9/11

Frame dimensions
Single sash square turn-only secondary sash 

Hinge side ALU 200 BD5

ALU 200-DS
Turn-only  

secondary sash

See page 8 for drilling 
dimensions

See page 8 for drilling 
dimensions

1) See page 3 for information on centre locks and additional locks.

Note: remove adhesive 
residue from frame corners.

FB - 120
FB - 75

FB - 160

▲ = FH > 2400

■ = FH > 1250 ≤ 2400  

■
 1)


FH

/3


FH
/3

1)
1)



03.201910/11 H48.200LS009EN-2

ALU 200-DS Installation of hinge pin BSO, -M and bottom hinge pin 
Single sash square turn-only secondary sash 
Hinge side ALU 200 BD5

Turn-only  
secondary sash

Removal and installation of the countersunk screws M5 x 7.5 (900) 

900

Installation of hinge pin (247) in the top hinge RH/LH (248)

247

248

Planning area

Installation of bottom hinge pin (243) in the corner hinge LH/RH (244)

Carry out the specified assembly step as illustrated in the 
adjacent figure.
 

•	 The face surface must be visible from the front for 
the insertion of the hinge pin (247) and the pin must 
audibly engage into the end position.

Carry out the specified assembly step as illustrated in the 
adjacent figure.
 

•	 Insert the bottom hinge pin (243) into the corner hinge 
LH/RH (244)  
and press in to the stop (e.g. press).

244

243

DANGER

Danger to life due to window sashes falling out if worn 
screws are reused

Unstable screwing of bearing components

•	 Do not reuse screws following removal.
•	 Use new countersunk screws M5 x 7 (920).



H48.200LS009EN-2 03.2019 11/11

Removal of hinge pin
Single sash square turn-only secondary sash 

Hinge side ALU 200 BD5

ALU 200-DS
Turn-only  

secondary sash

Disassembly sequence for hinge pin (247)

1.

4.

5.

2. 3.

246

247

  At least 2 people are required for the removal of the window sash.

Note: only carry out the removal of the hinge pin (247) using the disassembly key (material nr. see page 5).

Prior to assembly: press the window sash into the 
window frame and switch the lever handle into 
the locking position.

Carry out the specified assembly steps 1. to 5. as illustrated in the figures below. 

1 Press hexagon key from below against the hinge pin (246) and disable the security device in the top hinge LH/RH (247).
2. Insert disassembly key from above into the top hinge LH/RH. (247).
3. Press out the hinge pin downwards
4. Remove disassembly key and clip onto the hinge pin (246) with the recess on the other side. 

5. Unscrew and remove the hinge pin (246) downwards from the top hinge RH/LH (247) using the disassembly key.

After assembly: release the window sash and lift 
out of the bottom hinge (item 241/item 242).


